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General Instructions :

Preparatory Course in General Mathematics (Revised) (OMT-101) Questions 1 - 50

(i) This is an objective type question paper. Options for the correct answer must be marked
only in OMR sheet.

(ii) All questions are compulsory.
(iii) The question paper consists of 50 questions each of which carries one mark.

(iv) Each question has four alternatives, one of which is correct. Write the SI. No. of your
correct alternative / answer below the corresponding question number in the OMR sheet
and then mark the rectangle for the same number in that column. If you find that none

of the given alternatives is correct then write 0 and mark in column 0.

(v) Do not waste time in reading the whole question paper. Go on solving questions one by

one. You may come back to the left out questions, if you have time at the end.

(vi) Use of calculators is not allowed.
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10.

The present ages of Vikas and Abha are in the ratio of 5 : 4, respectively. Three years
hence, the ratio of their ages will become 11 : 9, respectively. What is Abha’s present
age in years ? ’

(1) 36 (2) 24 (3) 18 4 27

Three small lead spheres of radii 3 cm, 4 cm and 5 cm, respectively, are melted into a
single sphere. The diameter of the new sphere is

(1) 6cm (2) 16cm (3) 8cm 4) 12cm

The height of a right circular cylinder is three times the radius of the base. If the
height were four times the radius, the volume would be 1078 cm3.more than it was

previously. Therefore, the radius of the base is (Take n = 2772— )

(1) 6cm (2) 5cm (3) 75cm (4) 7cm

T 1,980 is divided among A, B and C so that half of A’s part, one-third of B’s part and
one-sixth of C’s part are equal. Then B’s part is

(1) T 540 (2) T 660 (3) T 1,080 (4) T 360

What was the rate of discount, if a computer with marked price ¥ 30,000 was sold for
T 28,000 ? '

L 20% @ 7 % % 3) 6% % 4) 15%

A trader marks the sale price 25% more on the cost price and gives a 10% discount at
the time of selling. The percentage gain is

) 12%% @) 12%% ) 11%% @ 12%

Bahar bought an item at 20% discount on its marked price. She sold it with 40%
increase on the price she bought it at. The new sale price is greater than the marked
price (in percent) by

(1) 10 - (2) 8 @3 75 4) 12
A sum of T 2,400 lent at a simple interest of 12-5% per annum will double in
(1) 8years (2) 12 years (3) 16 years (4) 20 years
Which of the fi)llowing is a measure of central tendency ?
(1) Standard deviation (2) Median
(8) Variance (4) Mean deviation

The following marks are obtained by 40 students in a class in a Mathematics unit
test, with maximum marks 40 :

Marks Group | 5-10 | 10-15 | 15-20 | 20-25 | 25-30 | 30-35 | 35-40
Frequency 5 6 15 6 4 3 1

Then, the number of students getting 25 marks or more, is
(1 8 (2) 32 3) 4 4) 6
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11. The mean of the prime numbers between 1 and 10 is

11
1 17 (2) )
3 4 4) 425

The following histogram shows the relationship between the marks obtained by the
students and the number of students in an examination. Study the histogram and
answer the questions number 12 — 14.

37

25. _____ ‘__

201-------{-------

Number of students

84------- s Ranetes SRR —

0-10 10-20 20-30 30-40 40-50

v

Marks out of 50

12. The percentage of students getting 60% marks or more is
(1) lessthan 10 » (2) less than 20
(3) between 20 and 30 ' 4) 50

13. The average marks obtained by a student is
1 122 (2 172
(3) 50 (4) 25

14. The mode of the data is
(1 37 2 25

3) 20 (4) 308
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15. Which of the following statements is ambiguous ?
(1) Sunday is the first day of a week.
(2) IGNOU offers programmes in distance mode only.
(3) Delhi is far from Mumbai.
(4) oais a Greek letter.

16. Which of the following is the correct order ?
() NCZCWCQ |
2) NCWCZCQ
3 QCENCZCW
4) ZCNCWCQ

17. Which of the following is an irrational number ?

V98
1) V16 2 —
V8
(3) V15 - (4) %
18. The Roman numeral for 49 is
1) XLIX : (2) XILX
(3) LIXX 4) XXIL
19. 4+6x3+2x3-3 isequal to
(1) 28 2) 4

(3) 42 4) 13

20. When a number is subtracted from its cube, the result is 6. Therefore, the number is
1) 3 , 2 -1
3) -2 4) 2

21. The least common multiple of 42, 14 and 20 is
1) 2 , (2) 140
(3) 210 v (4) 420
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22. Which of the following is a pair of equivalent fractions ?

5 5 ' 1 1
1 -, — 2 1—,4-
1) 910 ) @) 3 3
39 1 1
3) _9,_3 4) E,H
51 17 19 19

23. Which of the following is not é polynomial ?

1) x2%+a?+Db? (2 x-a)2-y2
®) §+1 4) 3-4x2+x
y

24, IfQ/;=2, then x =
1) 12 (2 32
(3 64 (4 36
25. If 1+_L_6, thenxis
X 2x
(D 2 2

3 4)

Wi N=
|

2 ,
26. If x=4 and y =1, then the value of the expression X o2y -4y is
x-2y)% +1

(D 2 4

(3 4)

Gil= o

o w

27. One factor of the expression 2x3 +3x%2 - 17x + 12 is
1 x+1 (2 x+4

3) x+2 o 4 x-3
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28.

29.

30.

31.

32.

33.

The sum of the first 10 terms of the sequence 2, 9, 16, 23, ... is
(1) 350 (2 335

(3) 400 (4) 315

The sigma notation for the sum (2 x3)+ (4 x4)+ (8 x5) + ... + (1024 x 12) is

10 10 '
) Z K2(13 - k) 2 Z K2k + 1)
k=1 k=1
10 10
(3) Z 9K(k + 2) @ Z &2 +k+1)
k=1 k=1 .

Which of the following is a perfect number ?
(1) 10 (2) 48

(3) 36 ' ' (4) 28

Three bulbs are to be sélected from a collection of 10. In how many ways can this be

done ?

f 10
1 10
7 | (2) 3
3) 30 ‘ @ 120
IfC(n, 2) =6, thenn=
1 3 (2 5

3) 4 4) 6

The coefficient of x2y3 in the expansion of (x + 2y)5 is
(1) 80 (2 8

(3) 10 (4) 160
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. 28.
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3) 36 | @) 28
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(x+'2y)5a?m'ﬁ x2y3mgvrr$‘3

(1) 80 : ' 2 8
3 10 4) 160
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34.

35.

36.

37.

38.

39.

The number of acute angles in the figure given below is

1 4 : 2) 9
3) 10 4 7

The dimensions of a cylinder are
1) 4 ‘ 2 3
3 2 4 1

Which of the following triples does not represent the sides of a right-angled triangle ?
D (3,4,5) . @ (6,8,10) |
3 5,12,13) 4 4,9,11)

The sum of the angles of a hexagon is
(1) 720° (2) 1080°
(3) b540° (4) 900°

Which of the following statements is true ?
(1) Any two polygons are similar. (2) Any two triangles are similar.

(3) Any two squares are similar. (4) Any two squares are congruent.

If the area (in cm?) of a rectangle is 36 and its perimeter (in cm) is 26, then its sides

(in cm) are
1) 2,18 2) 4,9
(3 6,6 4) 3,10
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34.

365.

"~ 36.

37.

38.

39.
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40.

41.

42,

43.

44.

45.

If PQR is a triangle, then which of the following is true ?
(1) PQ+QR=PR (2) PQ+QR<PR
3 PQ+QR>PR (4) PQ+PR<QR

If the radius of a wheel is 10 cm, how much distance will it cover in 14 cycles ?

(Take 7 = 37?-)

(1) 440 cm (2) 4400 cm
(3) 880cm (4) 2200 cm

How many matchboxes of dimensions 2 cm x 6 cm x 10 ¢cm can be put inside a box of
dimensions 40 cm x 60 cm x 50 cm ?

(1) 800 (2) 600
3) 500 - (4) 1000

A cylindrical vessel of height 20 cm and base diameter 7 cm is filled up with water.
How much water (in cm3) will remain in the vessel, if a ball of diameter 6 cm is put
inside it ?
(1) 209n
(2) 300~n
(3) 180n
(4) 250n

LetP=(-2,2), Q=(-1, 3) and R = (- 1, — 3). Then, which of the following is true ?
(1) P and R lie in the second quadrant.

(2) Q and R lie in the third quadrant.

(3) P and Q lie in the second quadrant.

(4) P, Q andR lie in the same quadrant.

Which of the following points divide the line segment joining (4, 2) and (-1, 3) in the
ratio2:17? :

7 7 7
& (5’5) @) (3,§j

3) (2,5) @ (3 §j
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40.

N 41.

42,

44.

45.

'aﬁPQR@ﬁga%,eﬁﬁw%rﬁaaﬁﬁaaﬁ-mm%?
(1) PQ+QR=PR 2 PQ+QR<PR

3 PQ+QR>PR : 4) PQ+PR<QR
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"_‘1+?"2‘=1?
3

46. Which of the following points does not lie on the line

10 3)
2 Q,5)

3 3,2
@ (1,2

47. The median of the data 1, 5, 6, 15,9, 12, 8, 12 is
(1 15 (2) 85
3 9 4 8

48. The mode of the data 6,6,7,2,9, 2, 2, 6,6 is
1 6 @2 7
3 9 4 2

49. The probability of drawing a black ace from a deck of 52 playing cards is

1
(2)
(3)

4)

g %I"‘ 8',_ N =

50. If A and B are two mutually exclusive events, then which of the following is true ?
(1) - P(AN B)=P(A).P(B) |
(2 PAUB)=1
(3) P(AUB)=P(A) +P(B)

(40 P(AUB)=PA).P®B)
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46.

47.

49.

50.

Prefofiea #§ & S fig e X;~1+y_—?:.2.=1qua%a‘a‘f%? |

| 10 3

@ @5

@ 6,2

4 1,2

AlwSt 1,5,6,15,9,12, 8, 12 = Afedw
1 15 | @)
3 9 4)

AtwSt 6,6,7,2,9,2,2, 6,6 F 9FAH &

1 6 @)
3 9 | @
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& 5
@ o
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@ i

M A 3R B 3 TR SvafiE g €, @ Frefafed § § SR a2

(1) PANB)=PQA).PB)
@ PAUB)=1

8) P(AUB)=P(A)+P(B)
(4) P(AUB)=P(A).P(B)

OMT-101 ' 19



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19

